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2.3 Abar of silicon is 4 cm long with a circular cross sec-
tion. If the resistance of the bar is 240 () at room tem-
perature, what is the cross-sectional radius of the bar?
Sol 1
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Q2
2.16 Determine V, in the circuit in Fig. 2.80.
16 Q 14Q
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Sol 2
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Q3
2.22 Find V, in the circuit in Fig. 2.86 and the power
absorbed by the dependent source.
10Q
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Sol 3
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Q4
2.20 Determine i, in the circuit of Fig. 2.84.
L. 20
54V +> <1'> 5i,
Sol 4
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Q5
2.21 Find V, in the circuit of Fig. 2.85.
2V
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Sol 5
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Q6
2.22 Find V,, in the circuit in Fig. 2.86 and the power
absorbed by the dependent source.
10Q
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Sol 6 . —
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